Peonza: Disco unido en su centro al extremo de una varilla

con el extremo opuesto fijo en el origen

(%13) cg: [theta, psi, phi]l;
(ho3) [9,9, ¢]
(%i4) d1:[disco,[0,0,1],rota(phi,3),md1,R];

[ cos (¢) —sin(¢) 0
(%o4) |disco,[0,0,],| sin(y¢) cos(¢) 0 |,mdl, R
0 0 1

(%i5) v1:[varilla, [0,0,1/2],rota(phi,3) ,mv1,1];

! cos(¢) —sin(gp) 0
(%05) | varilla, [0, 0, 5], sin (@) cos(p) 0 [|,mvl,!
0 0 1

(%16) saux:[subsistema, [0,0,0],rota(psi,3).rota(theta,1),[d1,v1]];

COs

(1) —sin () cos (9) s1n( sin (
(%06) | subsistema, [0,0,0],| sin(¢) cos(t)cos(¥) —cos(¢)sin( disco, [0, 0, 1],
0

L sin () cos (
cos () —sin(p) 0
sin (@) cos(y) 0 |,mdl,R|,
1

! cos (@) —sin go 0
varilla,[0,0,g}, sin (¢) cos <p 0 |,mvl,!
0 0 0 1

cos (¢) —sin () cos (¥) sin (1)) sin (
(%o7) | | subsistema, [0,0,0],| sin(v) cos(3)cos(¥) —cos(9)sin ( disco, [0,0,1],
0 cos (

sin ()
cos () —sin(p) 0 ! cos (@) —sin <p 0
sin (@) cos(y) 0 |,mdl,R|, Varilla,[0,0,g}, sin (¢) cos <p 0 |,mvl,!
0 0 1 0 1
(%i8) md1:10; mv1:10; R:0.5; 1:1;

(%08) 10
(%09) 10

(%i8) £G([%pi/4,%pi/4,%pi/4l);
(%012) true
(%i13)

(%i7) sistema: [saux];




